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Losung Al

a)

fi'l)==-2-Bx+1)+3-(1-2x)
=1-12x

b) f'(x)=2x-(x3+1)+3x%-(x2—-4)
=x(5x3 —12x + 2)
Q) £'@)=3 (4—-08x})—16x-Gx—1)
=—1,2x*>+1,6x+2
d fi’®=6t+1) - (1—-t?)—2t-3t2+1)
=—-12t3-3t?+6t+1
e) fi'(x)=0Bx?+2x)-(1—x)— (3x%+2x)
= 2x — 4x3
f)  fd@)=21+71%-2r
=4x(x? + 1)
Losung A2
a) fll(x)=\/;+%=§'\/§
b) fz'(x)=2x-\/_+i—; Vi3
0 =2 f+(2“)—2}12
d)  £/(t) = 94¢ - \/—+47tt1_23;f/_—1
&) f'()= ——(1 - - =22
n fre=-2
g) f7'(x) =cos(x) — x - sin(x)
h)  fo'(x) =2x-sin(x) + (x* +1) - cos(x)
) fo'(x) = Cozf/(f) Vx - sin(x) = —Cos(x);z/;sm(x)
) fio'(®) = cos?(t) — sin®(2)
K)  fi1'(®) = 2sin(t) - cos(t) = sin(2t)
) fio'(®) = =2sin(t) - cos(t) = —sin(2t)
Losung A3
a) fil)=m b)  f2(x) =2ax
c) fL')=gt d fi)=¢-2x-1)
e) fi'®=x>—x f)  fe(z)=0
9) fF)=gx)+x-g'(x) , h)  fsg(x) =2g(x)-g'(x)
) A =9"(x) g0+ (')
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